

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: April 16, 2025

Progress Estimate 3	Number	Contract ID Prime Contract	240816-D04 ctor Christensen Constru	uction Co.	Pay Period Start Ap tion Co. Pay Period End Ap		Original Contract Amount Net Change Order Amount Current Contract Amount	\$2,601,915.57 \$0.00 \$2,601,915.57
Approval Date								By User
April 16, 2025			Generate	d and Appro	oved (and should be c	onsidered Draft) at the Project Office Level by	koenib2
April 16, 2025			Reviewed and	d Approved ((and should be consid	lered Draft) at tl	ne Resident Engineer Level by	stokez1
April 18, 2025				Revie	ewed and Approved at	t the Central Of	fice Controllers Office Level by	ramses1
Original Completi	on Date	Curren	t Completion Date	Actua	al Completion Date		% of Current Contract Amoun	t Complete
November 1, 2	025	No	vember 1, 2025				41.23%	
	Contract In	formational Da	tes		Milestones			
Date Description	Original Co	ompletion Date	Current Completion Da	te No Mile	stones Exist for Contr	ract		
Acceptance Date								
Awarded Date	September	5, 2024	September 5, 2024					
Letting Date	August 16,	2024	August 16, 2024					
Notice to Proceed Date	October 7, 2	2024	October 7, 2024					
Open to Traffic Date								
Work Began Date								

Contract Total Pay	For Estimate No. 3				
		This Estimate	Previous	To Date	
240816-D04					
	Total Posted Items Pay	\$1,022,196.09	\$50,574.00	\$1,072,770.09	
	Gross Item Adjustments	(\$12,732.42)	\$0.00	(\$12,732.42)	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
			\$50,574.00	\$1,060,037.67	
Contract Total Pay	able This Estimate:	\$1,009,463.67			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JCD0049	0010	3105002	GRAVEL (A) OR CRUSHED STONE (B)	TONS	\$47.500	534.56	\$25,391.60
	0020	4071005	TACK COAT	GAL	\$2.500	6,892	\$17,230.00
	0030	6161005	CONSTRUCTION SIGNS	SQFT	\$6.150	512	\$3,148.80
	0061	6181000	MOBILIZATION	LS	\$77,699.000	0.75	\$58,274.25
	0130	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.020	45,342	\$906.84
	0150	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	SQYD	\$3.500	1,734.1	\$6,069.35
	0160	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	SQYD	\$5.000	1,126.85	\$5,634.25
	0170	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$84.000	4,075.2	\$342,316.80
	0180	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$84.000	4,936.67	\$414,680.28
	0190	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$84.000	1,768.38	\$148,543.92
Project JCD	00049 - Tota	al					\$1,022,196.09
Overall - To	tal						\$1,022,196.09

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

		nents This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JCD0049	0010	GRAVEL (A) OR CRUSHED STONE (B)	Material			-534.56	\$47.50	(\$25,391.60)
	0010	GRAVEL (A) OR CRUSHED STONE (B)	Material		This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user koenib2 overridding Payment Estimate Exception 1 on the current Payment Estimate.	534.56	\$47.50	\$25,391.60
	0020	TACK COAT	Material			-6,892	\$2.50	(\$17,230.00)
	0020	TACK COAT	Material		This adjustment offsets the original system-generated Material	6,892	\$2.50	\$17,230.00

Revision 3/23/2023 Page 1 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: April 16, 2025

Progress Estimate Number	Contract ID	240816-D04	Pay Period Start	, , , , ,		\$2,601,915.57
2	Prime Contractor	Christensen Construction Co.	Pay Period End	April 15, 2025	Net Change Order Amount	\$0.00
3			-	•	Current Contract Amount	\$2,601,915.57

					Current	COILLIACT ALI	iount #2	.,001,913.37
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JCD0049					Payment Estimate Item Adjustment (0002) due to user koenib2 overridding Payment Estimate Exception 4 on the current Payment Estimate.			
	0030	CONSTRUCTION SIGNS	Material			-948	\$6.15	(\$5,830.20)
	0030	CONSTRUCTION SIGNS	Material		This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user koenib2 overridding Payment Estimate Exception 5 on the current Payment Estimate.	948	\$6.15	\$5,830.20
	0050	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	Material			-2	\$4,600.00	(\$9,200.00)
	0050	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	Material		This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user koenib2 overridding Payment Estimate Exception 6 on the current Payment Estimate.	2	\$4,600.00	\$9,200.00
	0130	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material			-45,342	\$0.02	(\$906.84)
	0130	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user koenib2 overridding Payment Estimate Exception 8 on the current Payment Estimate.	45,342	\$0.02	\$906.84
	0130	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Other Item Adjustment	Other	Withholding 20% pending retro-reflectivity results. Currently paid \$906.84 906.84*0.2 = 181.37.			(\$181.37)
	0170	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Overrun			-51.4	\$84.00	(\$4,317.60)
	0170	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	Price	AC Price Index Adjustment based on the AC Price Index Adjustment spreadsheet. Spreadsheet placed in eProjects: http://eprojects/Docs/CD0049/AC_Index_Price_Adjustment_Hot_Mix_Asphalt_Ton_0001.pdf			(\$3,112.43)
	0180	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Material			-4,936.67	\$84.00	(\$414,680.28)
	0180	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Material		This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user koenib2 overridding Payment Estimate Exception 2 on the current Payment Estimate.	4,936.67	\$84.00	\$414,680.28
	0180	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	Cement Price	AC Price Index Adjustment based on the AC Price Index Adjustment spreadsheet. Spreadsheet placed in eProjects: http://eprojects/Docs/CD0049/AC_Index_Price_Adjustment_Hot_Mix_Asphalt_Ton_0001.pdf			(\$3,770.40)
	0190	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Material			-1,768.38	\$84.00	(\$148,543.92)
	0190	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Material		This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user koenib2 overridding Payment Estimate Exception 3 on the current Payment Estimate.	1,768.38	\$84.00	\$148,543.92
	0190	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment	AC Price Index Adjustment based on the AC Price Index Adjustment spreadsheet. Spreadsheet placed in eProjects: http://eprojects/Docs/CD0049/AC_Index_Price_Adjustment_Hot_Mix_Asphalt_Ton_0001.pdf			(\$1,350.62)
Total								(\$12,732.42)

Revision 3/23/2023 Page 2 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information									
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work					
JCD0049	FAS- S403 (036)	Resurface	OO, HH, Z	BOONE	on Route Z from Gano Chance Dr. to end of state maintenance, on Route OO from Route B to Route Z, and on Route HH from Route B to Route Z					

Totals by Jol	b Numbers			
JCD0049	Posted Item Pay Gross Item Adjustments	This Estimate \$1,022,196.09 (\$12,732.42)	Previous \$50,574.00 \$0.00	To Date \$1,072,770.09 (\$12,732.42)
	Gross Item Pay Incentive	\$1,009,463.67 \$0.00	\$50,574.00 \$0.00	\$1,060,037.67 \$0.00
	Disincentive Liquidated Damages	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00

Revision 3/23/2023 Page 3 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JCD0049, Item 3105002, Project Item Line Number 0010, Material Set 310500296, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	Working with materials and contractor to resolve	koenib2	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0049, Item 4020520, Project Item Line Number 0180, Material Set 402052096, Material 0402SLPMSL - Plant Mix for Surface Leveling, Acceptance Action Generic AspSL is insufficient.	Working with materials and contractor to resolve	koenib2	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0049, Item 4020520, Project Item Line Number 0190, Material Set 402052096, Material 0402SLPMSL - Plant Mix for Surface Leveling, Acceptance Action Generic AspSL is insufficient.	Working with materials and contractor to resolve	koenib2	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0049, Item 4071005, Project Item Line Number 0020, Material Set 407100596, Material 1015EASS1H - Emulsified Asphalt SS-1H, Acceptance Action Generic AspEmulsion is insufficient.	Working with materials and contractor to resolve	koenib2	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0049, Item 6161005, Project Item Line Number 0030, Material Set 616100596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Working with materials and contractor to resolve	koenib2	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0049, Item 6161098A, Project Item Line Number 0050, Material Set 6161098A96, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Working with materials and contractor to resolve	koenib2	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0049, Item 6206001C, Project Item Line Number 0130, Material Set 6206001C96, Material 1048PMTRWBYL - Marking Paint Acrylic Waterborne Yellow, Acceptance Action Generic 1048PMTRWBYL is insufficient.	Working with materials and contractor to resolve	koenib2	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0049, Item 6206001C, Project Item Line Number 0130, Material Set 6206001C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	Working with materials and contractor to resolve	koenib2	Overridden
Estimate Exception Type: Item Overrun: Contract 240816-D04, Contract Project JCD0049, Project Item Line Number 0170, Contract Line Item Number 0170, Item 4020520, Minor Item.	Working on change order for overrun.	koenib2	Acknowledged

Revision 3/23/2023 Page 4 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract .CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
816-D04	JCD0049	0001	0010	3105002	GRAVEL (A) OR CRUSHED STONE (B)	1,655.00	0.00	1,655.00	TONS	534.56	\$47.50	\$25,391.60
		0001	0020	4071005	TACK COAT	30,200.00	0.00	30,200.00	GAL	6,892.00	\$2.50	\$17,230.00
		0001	0030	6161005	CONSTRUCTION SIGNS	2,501.00	0.00	2,501.00	SQFT	948.00	\$6.15	\$5,830.20
		0001	0040	6161025	CHANNELIZER (TRIM LINE)	142.00	0.00	142.00	EA	0.00	\$5.00	\$0.00
		0001	0050	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$4,600.00	\$9,200.00
		0001	0060	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00	\$93,800.00	\$0.00
		0001	0061	6181000	MOBILIZATION	0.00	1.00	1.00	LS	0.75	\$77,699.00	\$58,274.25
		0001	0070	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	56.00	0.00	56.00	LF	0.00	\$23.50	\$0.00
		0001	0800	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	71.00	0.00	71.00	LF	0.00	\$23.50	\$0.00
		0001	0090	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	7.00	0.00	7.00	EA	0.00	\$275.00	\$0.00
		0001	0100	6200033	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	4.00	0.00	4.00	EA	0.00	\$1,500.00	\$0.00
		0001	0110	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	40.00	0.00	40.00	EA	0.00	\$15.00	\$0.00
		0001	0120	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	312,388.00	0.00	312,388.00	LF	0.00	\$0.20	\$0.0
		0001	0130	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	312,806.00	0.00	312,806.00	LF	45,342.00	\$0.02	\$906.84
		0001	0140	6206108A	$\boldsymbol{8}$ IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	251.00	0.00	251.00	LF	0.00	\$4.00	\$0.00
		0001	0150	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	11,469.00	0.00	11,469.00	SQYD	6,066.70	\$3.50	\$21,233.45
		0001	0160	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	2,652.00	0.00	2,652.00	SQYD	2,612.35	\$5.00	\$13,061.75
		0050	0170	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	4,023.80	0.00	4,023.80	TONS	4,075.20	\$84.00	\$342,316.80
		0051	0180	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	5,092.70	0.00	5,092.70	TONS	4,936.67	\$84.00	\$414,680.2
		0052	0190	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	17,003.30	0.00	17,003.30	TONS	1,768.38	\$84.00	\$148,543.92
		0001	5001	6189901	MISC.Adjusted Mobilization for Contract Bond	0.00	1.00	1.00	LS	1.00	\$16,101.00	\$16,101.00
	Project JC	D0049 - To	tal Value	Posted to D	ate as of Report Generated Date							\$1,072,770.09
816-D04 Ove	rall - Total	Value Post	ed to Dat	e as of Repo	rt Generated Date							\$1,072,770.0

Revision 3/23/2023 Page 5 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: JCD0049

Line lumber	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	3105002	GRAVEL (A) OR CRUSHED STONE (B)	4/10/25	4/16/25	159.52	TONS	Route OO					
			4/11/25	4/16/25	133.12	TONS	Route OO					
			4/14/25	4/16/25	115.37	TONS	Route OO gravel entrances and driveways					
			4/15/25	4/16/25	126.55	TONS	Route HH					
0020	4071005	TACK COAT	4/7/25	4/16/25	1,011.00	GAL	Eastbound lane from start of project in Hallsville to south of E Doris Blvd.	0.027	3.706			
			4/8/25	4/16/25	741.00	GAL	Westbound lane from start of project in Hallsville to south of E Doris Blvd.	0.027		3.155		
			4/9/25	4/16/25	871.00	GAL	EB/WB lanes to end of Route OO.			4.610		
			4/10/25	4/16/25	741.00	GAL	Asphalt laid in the eastbound lane, as well as the westbound lane from the railroad tracks to Route B, and the aprons connecting to Brown Station Rd. And entrances for Route OO.	0.002		2.426		
			4/11/25	4/16/25	871.00	GAL	Eastbound lane of Route HH.	2.426		5.733		
			4/14/25	4/16/25	1,699.00	GAL	Route HH	5.375 WB		0 WB		
			4/15/25	4/16/25	958.00	GAL	Route Z	17.986 SB		13.963 SB		
0030	6161005	CONSTRUCTION SIGNS	4/7/25	4/16/25	200.00	SQFT	Located on Route OO: - 7 x Uneven Lanes = 112 SQFT - 4 x NO Center Line = 64 SQFT - 2 x Work Zone No Phone Zone = 24 SQFT Total = 200 SQFT					
			4/10/25	4/16/25	312.00	SQFT	Signs installed on Route HH: - 12 x Uneven Lanes = 192 SQFT - 6 x No Center Line = 69 SQFT - 2 x Work Zone No Phone Zone = 24 SQFT Total = 312 SQFT					
0061	6181000	MOBILIZATION	4/15/25	4/16/25	0.75	LS	Routes OO, HH and Z					Payment is for 3 of the 25% mobilization quantity perspecification section 618. - First payment at 5% - Second payment at 10% - Third payment at 25%
0130	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	4/15/25	4/16/25	45,342.00	LF	Route OO					
0150	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	4/8/25	4/16/25	1,734.10	SQYD	Route Z					
0160	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	4/8/25	4/16/25	1,126.85	SQYD	Route Z					
0170	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	4/7/25	4/16/25	1,548.85	TONS	Eastbound lane from start of project in Hallsville to south of E Doris Blvd.	0.027	3.706			
			4/8/25	4/16/25	1,455.96	TONS	Westbound lane from start of project in Hallsville to south of E Doris Blvd.	0.027		3.155		
				4/16/25	988.00		EB/WB lanes to end of Route OO. 993 tons delivered with 5 ton haul back.			4.610		
			4/10/25		82.37		Tonnage for all of the asphalt entrances.					
			4/11/25	4/16/25	0.02	TONS	This is to round the final measurement to the nearest tenth according to Sec 402.11.					
0180	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	4/10/25	4/16/25	1,383.87	TONS	Asphalt laid in the eastbound lane, as well as the westbound lane from the railroad tracks to Route B, and the aprons connecting to Brown Station Rd.	0.002		2.426		
			4/11/25	4/16/25	1,424.10	TONS	Eastbound lane of Route HH.	2.426		5.733		
			4/14/25	4/16/25	2,128.70	TONS	Route HH westbound lane	5.375 WB		0 WB		
0190	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	4/15/25	4/16/25	1,768.38	TONS	Route Z	17.986 SB		13.963 SB		

<u>The information below this line are details for Construction Signs (if applicable).</u>

No Data Available

Revision 3/23/2023 Page 6 of 9



Line Item Adjustments by Estimate

Contract ID: 240816-D04

roject	Lina	Dogorintian	A director as t	Other	Eat	Crostad	Crosted	Amerint	Donesalie										
roject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks										
D0049	0010	GRAVEL (A) OR CRUSHED STONE (B)	Material		3	Apr 16, 2025	SYSTEM	\$25,391.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user koenib2 overridding Payment Estimate Exception 1 on the current Payment Estimate.										
					3	Apr 16, 2025	SYSTEM	(\$25,391.60)											
				- Total				\$0.00											
			Material - To	otal				\$0.00											
	0010 -	Total						\$0.00											
	0020	TACK COAT	Material		3	Apr 16, 2025	SYSTEM	\$17,230.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user koenib2 overridding Payment Estimate Exception 4 on the current Payment Estimate.										
					3	Apr 16, 2025	SYSTEM	(\$17,230.00)											
				- Total				\$0.00											
			Material - To	otal				\$0.00											
	0020 -							\$0.00											
	0030	CONSTRUCTION SIGNS	Material		2	Apr 2, 2025	SYSTEM	\$2,681.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user koenib2 overridding Payment Estimate Exception 1 on the current Payment Estimate.										
					2	Apr 2, 2025	SYSTEM	(\$2,681.40)											
					3	Apr 16, 2025	SYSTEM	\$5,830.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user koenib2 overridding Payment Estimate Exception 5 on the current Payment Estimate.										
					3	Apr 16, 2025	SYSTEM	(\$5,830.20)											
				- Total				\$0.00											
			Material - To	otal				\$0.00											
	0030 -	Total						\$0.00											
	0050	CMS W/O COMMUNICATION INTERFACE,	Material		2	Apr 2, 2025	SYSTEM	\$9,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user koenib2 overridding Payment Estimate Exception 2 on the current Payment Estimate.										
		CONT F/													2	Apr 2, 2025	SYSTEM	(\$9,200.00)	
					3	Apr 16, 2025	SYSTEM	\$9,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user koenib2 overridding Payment Estimate Exception 6 on the current Payment Estimate.										
					3	Apr 16, 2025	SYSTEM	(\$9,200.00)											
				- Total				\$0.00											
			Material - To	otal				\$0.00											
	0050 -	Total						\$0.00											
	0130	4 IN. YELLOW WATERBORNE PAVEMENT	Material		3	Apr 16, 2025	SYSTEM	\$906.84	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user koenib2 overridding Payment Estimate Exception 8 on the current Payment Estimate.										
		MARKING			3	Apr 16, 2025	SYSTEM	(\$906.84)											
				- Total				\$0.00											
			Material - To	otal				\$0.00											
			Other Item Adjustment	OTHR		Apr 16, 2025	koenib2	(\$181.37)	Withholding 20% pending retro-reflectivity results. Currently paid \$906.84 906.84*0.2 = 181.37.										
				OTHR - Tota	al			(\$181.37)											
			Other Item	Adjustment -	Total			(\$181.37)											
	0130 -							(\$181.37)											
	0170	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	Other Item Adjustment	ACAD	3	Apr 16, 2025	koenib2	(\$3,112.43)	AC Price Index Adjustment based on the AC Price Index Adjustment spreadsheet. Spreadsheet placed in eProjects: http://eprojects/Docs/CD0049/ AC_Index_Price_Adjustment_Hot_Mix_Asphalt_Ton_0001.pdf										
				ACAD - Tota	Total		(\$3,112.43)												
			Other Item	Adjustment -				(\$3,112.43)											
			Overrun	Overrun	3	Apr 16,	SYSTEM	(\$4,317.60)											

Apr 19, 2025



Line Item Adjustments by Estimate

Contract ID: 240816-D04

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JCD0049	0170	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	Overrun			2025			
			Overrun - Total					(\$4,317.60)	
			Overrun - Total					(\$4,317.60)	
	0170 - Total							(\$7,430.03)	
	0180	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	Material		3	Apr 16, 2025	SYSTEM	\$414,680.28	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user koenib2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					3	Apr 16, 2025	SYSTEM	(\$414,680.28)	
				- Total				\$0.00	
			Material - Total					\$0.00	
			Other Item Adjustment	ACAD	3	Apr 16, 2025	koenib2	(\$3,770.40)	AC Price Index Adjustment based on the AC Price Index Adjustment spreadsheet. Spreadsheet placed in eProjects: http://eprojects/Docs/CD0049/ AC_Index_Price_Adjustment_Hot_Mix_Asphalt_Ton_0001.pdf
				ACAD - Total				(\$3,770.40)	
			Other Item Adjustment - Total					(\$3,770.40)	
	0180 - Total							(\$3,770.40)	
	0190	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	Material		3	Apr 16, 2025	SYSTEM	\$148,543.92	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user koenib2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					3	Apr 16, 2025	SYSTEM	(\$148,543.92)	
				- Total				\$0.00	
			Material - Total					\$0.00	
			Other Item Adjustment	ACAD	3	Apr 16, 2025	koenib2	(\$1,350.62)	AC Price Index Adjustment based on the AC Price Index Adjustment spreadsheet. Spreadsheet placed in eProjects: http://eprojects/Docs/CD0049/ AC_Index_Price_Adjustment_Hot_Mix_Asphalt_Ton_0001.pdf
				ACAD - Total				(\$1,350.62)	
			Other Item Adjustment - Total					(\$1,350.62)	
	0190 - Total							(\$1,350.62)	
	D0049 - Total								
D004 <u>9</u>	- Total							(\$12,732.42)	

MoDOT

Contract Adjustments for Contract - 240816-D04

There are no contract adjustments to display for this contract.

Revision 3/23/2023 Page 9 of 9